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Howdo we multiply

Elche IIobh do ta ta ta t botb tb z tb s t

manyways tomultiply thisout

Onepossibility is the so calledCauchyproduct
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Thin If oak a and Eobu b converge absolutely then

a b oar EbutEo oan.jbj

i e this seriesconverges

1 6Power Series and ExponentialFunction
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Elo aux is called a powerseries

For which does it converge
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bedifferent for x p and x p

e is called theradius of convergence
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willmakemore senseforcomplexpowerseries later

e can be 0 O or W

wehave f sup 1 1 IE auXkconverges
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alternatively we could use theratio test
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note elf cow regions of powerseriesPCH and QCH overlap also
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If 17 1 Q x converge th pts thenalso
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now want to consider HE e.g interest compounding

what is high HE if it exists depending on x
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buthere withoutproof the guess is correct
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so f HI IFIT fulfills fCH flyt f x ly
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e is called Euler'snumber and e 2.718
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